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A–8943   

U.G. DEGREE EXAMINATION, NOVEMBER 2019 

Corporate Secretaryship 

Allied – ACCOUNTANCY FOR BEGINNERS 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10  2 = 20) 

Answer all questions. 

1. Define Accounting. 

 PnUS £vÂ¯À ÁøµÂ»UPn® u¸P. 

2. What is accounting process? 

 PnUQ¯À ö\¯À£õkPÒ ¯õøÁ? 

3. What is an invoice? 

 Chõ¨¦ GßÓõÀ GßÚ? 

4. What is a Loose-Leaf Ledger? 

 ÂkuõÒ ÷£÷µk  GßÓõÀ GßÚ? 

5. What is accommodation bill? 

 £µì£µ Á\v Esi¯ÀPÒ GßÓõÀ GßÚ? 

6. What is trial balance? 

 C¸¨£õ´Ä GßÓõÀ GßÚ? 

7. What is a Bank Pass Book? 

 Á[Qa ö\À÷»k GßÓõÀ GßÚ? 
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8. What is a Bank Reconciliation Statement? 

 Á[Qa \›Pmk® £mi¯À GßÓõÀ GßÚ? 

9. What is revenue expenditure? 

 Á¸Áõ°Úa ö\»Ä GßÓõÀ GßÚ? 

10. Explain the term liabilities. 

 ö£õÖ¨¦PÒ GßÓ ö\õÀø» ÂÁ›. 

 Part B (5  5 = 25) 

Answer all questions. 

11. (a) What are the basic concepts of accounting? 

   Ai¨£øhU PnUQ¯À P¸zxPÒ ¯õøÁ? 

Or 

 (b) How are accounts classified? 

   PnUSPÒ G[VÚ® ÁøP¨£kzu¨£mkÒÍx? 

12. (a) Find out profit from the following : 

   (i) Capital at the beginning of the year Rs. 10,000 

   (ii) Drawings during the year Rs. 20,000 

   (iii) Capital at the end of the year Rs. 50,000 

   (iv) Capital introduced during the year Rs. 10,000 

   ¤ßÁ¸® ÂÁµ[PøÍU öPõsk »õ£zøu PshÔP. 

   (i) Bsiß öuõhUP •uÀ ¹. 10,000 

   (ii) |h¨£õsiÀ Gk¨¦PÒ ¹. 20,000 

   (iii) Bsiß CÖv°À •uÀ ¹. 50,000 

   (iv) Bsiß Cøh°ÀAÎzu TkuÀ •uÀ ¹. 10,000 

Or 
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 (b) Journalise the following transactions : 

   (i)  Gopal starts business with cash Rs. 1,00,000 

  (ii)  Goods purchased on credit from Balu Rs. 50,000 

  (iii) Goods purchased for cash from Ram Rs. 60,000 

  (iv) Machinery purchased from R.K. Mills Rs. 20,000 

  (v) Salaries paid to staff Rs. 10,000   

   RÌUPõq® |hÁiUøPPøÍU SÔ¨÷£miÀ £vÄ 
ö\´P. 

   (i)  ÷Põ£õÀ ¹. 1,00,000 öµõUPzvÀ Â¯õ£õµ® 
öuõh[QÚõº. 

  (ii)  £õ¾Âhª¸¢x ¹. 50,000 zvØS \µUS PhÚõPU 
öPõÒ•uÀ ö\´¯¨£mhx. 

  (iii) µõªhª¸¢x ¹. 60,000 zvØS \µUS öµõUPzvØS 
öPõÒ•uÀ ö\´¯¨£mhx. 

   (iv) ¹. 20,000 ©v¨¦ÒÍ C¯¢vµ® R.K. Mill hª¸¢x 
Áõ[P¨£mhx. 

  (v) £o¯õÍºPÐUS ÁÇ[P¨£mh Fv¯® ¹. 10,000 

13. (a) What are the advantages of cash book? 

   öµõUP Hmiß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Enter the following transactions in a single column 

cash book of Mr.Kumaran.  

 2014   Jan  1  Started business with cash Rs. 1,000 

   3  Purchased goods for cash Rs. 500 

   4  Sold goods Rs. 1,700 

   5  Cash received from Siva Rs. 200 

   12 Paid Balan Rs. 150 

   14 Bought furniture Rs. 200 

   15 Purchased goods from Kala on credit Rs. 2,000 

   20 Paid electric charges Rs. 225 

   24 Paid salaries Rs. 250 

   28 Received commission Rs. 75 
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   v¸. S©µß AÁºPÎß uÛ¨£zv öµõUP HmiÀ 
RÌUPõq® |hÁiUøPPøÍ £vÄ ö\´P.  

 2014  áÚÁ›  1  Â¯õ£õµ® öuõh[Q¯x ¹. 1,000 

    3  öµõUP öPõÒ•uÀ ¹. 500 

    4  ÂØ£øÚ ¹. 1,700 

    5  ]ÁõÂhª¸¢x öµõUP® ö£ØÓx ¹. 200 

    12 £õ»ÝUS öµõUP® öPõkzux ¹. 150 

    14 AøÓP»ß Áõ[Q¯x ¹. 200 

    15 Põ»õÂhª¸¢x PhÝUS \µUS Áõ[Q¯x ¹. 2,000 

    20 ªß Pmhn® ö\¾zv¯x ¹. 225 

    24 \®£Í® öPõkzux ¹. 250 

    28 PÈÄ ö£ØÓx ¹. 75 

14. (a) Why is the preparation of Bank Reconciliation 

Statement necessary? 

   Á[Q \›Pmk® £mi¯¼ß ÷uøÁ ¯õx? 

Or 

 (b) From the following details, make out a bank 

reconciliation statement for M/s. Elavarasan & 

Company as on December 31, 2013 to find out the 

balance as per pass book. 

   (i) Cheques deposited but not yet collected by the 

bank Rs. 1,500 

  (ii) Cheque issued to Mr.Raju has not yet been 

presented for payment Rs. 2,500 

  (iii) Bank charges debited in the pass book Rs. 200 

  (iv) Interest allowed by the bank Rs. 100 

  (v) Insurance premium directly paid by the bank 

as per standing instructions Rs. 500 

  (vi) Balance as per cash book Rs. 200  
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   R÷Ç öPõkUP¨£mkÒÍ ÂÁµ[PÎ¼¸¢x v¸ÁõÍº. 
CÍÁµ\ß {Ö©zvß i\®£º 31, 2013 B® |õÍßÖ 
ö\À÷»miß£i¯õÚ C¸¨¤øÚU Põq® ÁøP°À 
Á[Q \›UPmk® £mi¯À JßÔøÚ u¯õ›UP. 

   (i) Á[Q°À ö\¾zv¯ Põ÷\õø»PÎÀ Á`¼zx 
ÁµÁøÇUP¨£hõuøÁ ¹. 1,500 

  (ii) v¸. µõãÂØS AÎzu Põ÷\õø» CxÁøµ 
ö\¾zxøPUS •ßÛø»¨ £kzu¨£hÂÀø»  
¹. 2,500 

  (iii) Á[QU Pmhn® ö\À HmiÀ £ØÖ 
ö\´¯¨£mkÒÍx ¹. 200 

  (iv) Á[Q AÝ©vzu Ámi ¹. 100 

  (v) {ø» Bøn°ß£i Á[Q¯õÀ ÷|µi¯õP 
ö\¾zu¨£mh Põ¨¥mkU Pmhn® ¹. 500 

   (vi) öµõUP Hmiß£i C¸¨¦ ¹. 200 

15. (a) Prepare profit and loss account for the year ended 

31st Dec. 2014 from the following : 

 Rs.  Rs. 

Gross profit 1,25,000 Discount paid 600

Salaries 15,000 Discount received 1,000

Rent 5,000 Interest paid 500

Carriage outwards 1,000 Interest received 700

Selling expenses 500 Commission earned 2,000

Income from investment 1,500   

   ¤ßÁ¸ÁÚÁØøÓU öPõsk 2014 i\®£º 31® 
|õ÷Íõk •iÁøh²® BsiØPõÚ C»õ£ |mh 
PnUQøÚz u¯õ›UPÄ® 

 ¹.  ¹. 

ö©õzu »õ£® 1,25,000 uÒÐ£i ö\¾zv¯x 600

\®£Í® 15,000 uÒÐ£i ö£ØÓx 1,000
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 ¹.  ¹. 

ÁõhøP 5,000 Ámi ö\¾zv¯x 500

öÁÎ HØÔaö\À ö\»Ä 1,000 Ámi ö£ØÓx 700

ÂØ£øÚa ö\»ÄPÒ 500 PÈÄ ö£ØÓx 2,000

•u½kPÒ «uõÚ Á¸©õÚ® 1,500   

Or 

 (b) State the differences between a Trial Balance and a 

Balance Sheet. 

   C¸¨£õ´ÂØS®, C¸¨¦{ø»U SÔ¨¤ØS® Cøh÷¯ 

EÒÍ ÷ÁÖ£õkPøÍU SÔ¨¤kP. 

 Part C  (3  10 = 30) 

Answer any three questions. 

16. Explain the basic assumptions of accounting. 

 PnUQ¯¼ß Ai¨£øh AÝ©õÚ[PøÍ ÂÁ›. 

17. Journalise the following transactions in the books of 

Amar and post them in the Ledger : 

 2014  March  1  Bought goods for cash Rs. 25,000 

    2  Sold goods for cash Rs. 50,000 

    3  Bought goods for credit from Gopi Rs. 19,000 

    5  Sold goods on credit to Robert Rs. 8,000 

    7  Received from Robert Rs. 6,000 

    9  Paid to Gopi Rs. 5,000 

    20 Bought furniture for cash Rs. 7,000 
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 RÌUPsh |hÁiUøPPøÍ v¸. A©º AÁºPÎß HkPÎÀ 
PÔ¨÷£miÀ £v¢x ÷£÷µmiÀ GkzöuÊxP. 

 2014  ©õºa   1  öµõUPzvØS \µUS Áõ[Q¯x ¹. 25,000 

    2  öµõUPzvØS \µUS ÂØÓx ¹. 50,000 

    3  ÷Põ¤ Gß£Á›hª¸¢x Phß ÷£›À \µUS 

Áõ[Q¯x ¹. 19,000 

    5  µõ£ºm Gß£Á¸US Phß ÷£›À \µUS ÂØÓx 

¹. 8,000 

    7  µõ£ºihª¸¢x ö£ØÓx ¹. 6,000 

    9  ÷Põ¤US ö\¾zv¯x ¹. 5,000 

    20 öµõUPzvØS AøÓP»ß Áõ[Q¯x ¹. 7,000 

18. Differentiate Cash book and Pass book. 

 öµõUP Hmøh²® ö\À÷»møh²® ÷ÁÖ£kzxP. 

19. Prepare a three column cash book of Thiru Sethu from 

the following transaction : 

2015 

April 

 Rs. 

1 Sethu commenced business with cash 10,000

3 Deposited into bank 4,000

5 Bought goods for cash 3,800

10 Purchased goods by cheque 1,500

11 Sold goods to Akbar on credit 3,560

12 Received cash from Asha 290

 Discount allowed 10

15 Bought goods from Suresh on credit 2,800

17 Cash sales 1,500

24 Withdrew from bank for office use 2,175

25 Paid wages by cheque  130
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2015 

April 

 Rs. 

29 Paid Suresh by cheque 2,760

 Discount allowed by him 40

30 Paid into bank 1,120

30 Received a cheque for Rs. 3,500 from Akbar in full 

settlement of his account which is deposited into bank. 

 RÌUPõq® |hÁiUøPPøÍU öPõsk v¸. ÷\xÂß ‰ßÖ 

£zvPøÍU öPõsh öµõUP Hmøhz u¯õ›UPÄ®. 

2015 

H¨µÀ 

 ¹. 

1 ÷\x öµõUP® ÷£õmk öuõÈø»z öuõh[QÚõº 10,000

3 Á[Q°À ö\¾zv¯x 4,000

5 öµõUPzvØS \µUS Áõ[Q¯x 3,800

10 Põ÷\õø» ‰»® \µUS öPõÒ•uÀ ö\´¯¨£mhx 1,500

11 AU£¸US \µUS PhÛÀ ÂØ£øÚ ö\´¯¨£mhx 3,560

12 BåõÂhª¸¢x öµõUP® ö£Ó¨£mhx 290

 AÎUP¨£mh uÒÐ£i 10

15 _÷µæhª¸¢x PhÛÀ öPõÒ•uÀ ö\´u  \µUS 2,800

17 öµõUP ÂØ£øÚ 1,500

24 A¾Á»P E£÷¯õPzvØPõÚ Á[Q°¼¸¢x öµõUP® Gkzux 2,175

25 Põ÷\õø» ‰»® T¼ öPõhzux 130

29 _÷µåûUS Põ÷\õø» ‰»® ö\¾zv¯x 2,760

 AÁµõÀ AÎUP¨£mh uÒÐ£i 40

30  Á[Q°À ö\¾zv¯x 1,120

30 PnUøP •ÊÁx® •izxU öPõÒÁuØPõP AU£›hª¸¢x ö£ØÓ Põ÷\õø» 

¹. 3,500 Á[Q°À ö\¾zu¨£mhx  
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20. From the following trial balance of Govind, prepare 

Trading and profit and loss account for the year ended 

December 31, 2014 and a balance sheet as on that date : 

Trial Balances 

Particulars Debit Rs.  Credit Rs. 

Capital – 40,000

Sales – 25,000

Purchases 15,000 –

Salaries 2,000 –

Rent 1,500 –

Insurance 300 –

Drawings 5,000 –

Machinery 28,000 –

Bank balance 4,500 –

Cash in hand 2,000 –

Stock 1.1.2010 5,200 –

Debtors 2,500 –

Creditors – 1,000

 66,000 66,000

 Adjustments required: 

 (a) Stock on 31.12.2010 Rs. 4,900 

 (b) Salaries unpaid Rs. 300 

 (c) Rent paid in advance Rs. 200 

 (d) Insurance prepaid Rs. 90 
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 v¸. ÷PõÂ¢ AÁºPÎß RÌUPsh C¸¨¦a 
÷\õuøÚ°¼¸¢x i\®£º 31, 2014À •i²® BskUPõÚ 
Â¯õ£õµU PnUøP²®, C»õ£ |mhU PnUøP²® 
Az÷uv°ß £i²ÒÍ C¸¨¦{ø»U SÔ¨ø£²® u¯õº ö\´P. 

C¸¨¦a ÷\õuøÚ 

ÂÁµ® £ØÔ¸¨¦PÒ ¹. ÁµÂ¸¨¦PÒ ¹.

•uÀ – 40,000

ÂØ£øÚ – 25,000

öPõÒ•uÀ 15,000 –

Fv¯® 2,000 –

ÁõhøP 1,500 –

Põ¨¥k 300 –

Gk¨¦PÒ 5,000 –

C¯¢vµ® 28,000 –

öµõUP® Á[Q°¸¨¦ 4,500 –

öµõUP® øP°¸¨¦ 2,000 –

\µUQ¸¨¦ 1.1.2010 5,200 –

PhÚõÎPÒ 2,500 –

PhÜ¢÷uõº – 1,000

 66,000 66,000

 ÷uøÁ¨£k® \›PmhÀPÒ : 

 (A) \µUQ¸¨¦ 31.12.2010 ¹. 4,900 

 (B) Fv¯® öPõk£h ÷Ási¯x ¹. 300 

 (C) ÁõhøP •ßTmia ö\¾zv¯x ¹. 200 

 (D) Põ¨¥k •ß Tmia ö\¾zv¯x ¹. 90. 

 

———————— 


